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SILVER LINE SCHOOL
HOLIDAY HOMEWORK
MATHS WORKSHEET CLASS 111
Name Sec- Roll No- Date-

QI. Solve the sums. Then find their answers in the crossword given below. Circle them. You can go from left to
right, top to bottom and diagonally.

680-480= 70x1=
10x10x1= 4280-4260=
6000-5950= 980-900=
20x50= 10x9=
330+270= 5000-4999=
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QI1. Mental Ability:
The product of 45 and 6 is

1000 = 550 +

=

N

3. Find the difference of 1800 and 1620
4. 3setsofl4d Q 5 sets of 12

5. In 5367 digit 3 stands for

6. Howmany7°’sin91 ?

7. Take away 9 from the product of 15 and 3

8. How many months in 1 year?

9. 13 Th+13T =

10. How many days are there in July and August?
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QIIl. NUMBER PATTERNS

Observe the pattern and solve the puzzle.

AcCross
b) 41,43 0)3,9
d) 56,59 p) 91,84
e) 29,26 q) 41,37
g) 92,94 r) 16,20
i) 33,40 s) 3,8
j) 38,31 u) 83,73
) 65,70 X) 82,88
m) 90,85 z) 73,67
Down
a) 78,76 n) 31, 33
c) 50, 53 0) 23, 20
f) 47, 43 q) 28,33
h) 58, 63 r) 31, 27
j) 23,25 t) 32, 34
k) 40, 37 v) 40, 37
) 62, 66 w) 51, 55
m) 91, 86 y) 56, 51
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